Haryana Gowt. has decided to celebrate

the year 2023 as

(A) Antyodaya Utthan varsh
(B) Antyodaya Arogyad Varsh
(C) Antyodaya Aahar Vvarsh
(D) Antyodaya Akshar Varsh

(E) Not attempted

color road markings are used
for all carriageway markings except for
parking restrictions.

(A) Red (B) Yellow
(C) White (D) Blue glﬁ
(E) Not attempted E]h-El

With reference to the AMRUT Mission
(Atal Mission for Rejuvenation and Urban
Transformation), consider the following

statements :
1. It comes under the Ministry of Jal

Shakti.

2. It's one of purpose is to ensure that every
household has access to a tap with the
assured supply of water and a sewerage

connection.
Which of the statements given above
is/are correct ?
(A) 1only
(B) Neither 1 nor 2
(C) Both 1 and 2
(D) 2 only
(E) Not attempted

Under the G20 Presidency of India, the

1*! Environment and Climate Sustainability
Working Group (ECSWG) Meeting was
held at

(A) Chennai (B) Bengaluru

(C) Mysuru (D) None of the above
(E) Not attempted

SC-T%

1. FfEmn EwRAa 2023 R
& &9 7 g 1 o feran 2

(A) 3cdicg Icu a4
(B) 3icdicd IR ad
(C) icdiea HTER
(D) icdrey e ¥
(E) ITvaTfEa

2. e ggh @I H wEm
qifd fivy @i Sigwt oft aEEant R
& fore g 2 |

(A) @1 (B)
() vad (D) et
(E) 3r9artéd

3. AMRUT fieH (31eet J1&gR Td el
wqior figr) % g # Frafafaa wemi
‘Iﬂﬁﬁﬂ'(ﬁ:

1. I Tt vifed HATGT o AT AT 2 |
2. 3] Ush 3¢9 I gHredd w1 2 fa
Yo T I Teh TATY(d arel Ad 3t
Hias e U & |
frffea d a FR-Tm s g 2 7
e (A) Ha 1
a (B) A a1 198 2
(C) 19 2qHi
(D) hae 2
(E) 3Tafea

4. WA hl G20 3EI&IAT & d&d Yga!
TR 3R Srerary feerar w1 wg
(w8 T A ) Y da wal s
TS 7
(A) =3 (B) T
(C) A (D) I § & FE TE

(E) Irvfaa
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Which of the following is not a basic
counselling skill ?

(A) Empathy

(B) Paraphrasing

(C) Sympathy

(D) Building a connect
(E) Not attempted

The present day Haryana came under the
control of East India Company of Britain in

(A) 1756 (B) 1858
(C) 1857 (D) 1803
(E) Not attempted

Following are some of the causes of
delayed motor development except

(A) Poor physical health

(B) Positive environment

(C) Improper growth conditions
(D) Inadequate nutrition

(E) Not attempted

The Genetic Engineering Appraisal
Committee comes under the

@l

(A) Ministry of Commerce Eﬂ%

(B) Ministry of Agriculture

(C) Ministry of Environment, Forest and
Climate Change

(D) None of the above

(E) Not attempted

Famous Urdu poet Altaaf Hussein Haali
was born in

(A) Sonipat
(C) Rohtak
(E) Not attempted

(B) Panipat
(D) Ambala

B

(&) 1756

SC-T09

fre & & Ba-T gREE Ty e

TR

(A) aeyfa

(B) WrET{dTE

(C) weEfa

(D) T TYFH FMEI

(E) st

adar gfamn fies % f sfem Foh %

frazor e AT AT 7

(B) 1858

(C) 1857 [EiAZ0) 1803

(E) e El%

foafrem At foasma & $8 Fro F=fafee

&, 39 AU B

(A) U IR ey

(B) HHIIcH GHTEL0T

(C) faa o i feufy

(D) 3T9FTT qryoy
)

m

(B) Y worerm
(C) waterwT, a9 3ii Sefary yitada
LEID

(D) 39U | & IS TE

(E) 3rwfra

g 3¢ Ff ararw 587 e 1 5
TR g3 U1

(A) "iHaa (8) wriya

(C) Vg (D) ST

(E) 3rnfra
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10.

11.

12.

13.

14.

Chaudhary Charan Singh Haryana
Agricultural University is popularly

known as
(A) HMU (B) HEU
(C) HAU (D) HOU

(E) Not attempted

Pradhan Mantri Sukanya Samriddhi
Yojana was launched in

(A) 2014 (B) 2017
(C) 2015 (D) 2019
(E) Not attempted

The teacher can ensure support to the
student in the following ways except

(A) Building rapport
(B) Encourage unmasked expression of
emotions

(C) Being judgemental
(D) Ensuring confidentiality
(E) Not attempted

Which of the following organisms referred
to as the farmer's ‘friend’ ?

(B) Termites
(D) Ants

(A) Earthworm

e

(C) Fishes
(=} (=]

(E) Not attempted

The process of integrating new perceptual,
motororconceptualmaterialorexperiences
into existing schemata is termed as
(A) Accommodation
_B) Schema
(C) Assimilation
(D) Equilibration
(E) Not attempted

10.

(8]
T
OR30

11.

12.

13.

14.

SC -Tog

ety =0 e gfemn S et
) AT T & F9 A A A R
(A) TI.THT, (B) TI.3.,

(C) Ta.0.g, (D) TE.3M.7,

(E) 3rsTfad

wﬁﬁwaﬁ%m__ﬁq;
T |
(A) 2014

(C) 2015
(E) AwaTtd

R e & foRE b Al < T
@1 1 GHd GrTTed S Fehal € 7

(B) 2017
(D) 2019
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15.

16.

17.

18.

19.

All motor vehicles operating in a public
space must be insured against

party risks.

(A) First (B) Null

(C) Third (D) Second [z

(E) Not attempted =
Bl

Whilch one of the following skill is
not included in the Critical Life Skills
programme ?

(A) Financial literacy

(B) Economic literacy

(C) Child care and education
(D) Digital literacy

(E) Not attempted

Which of the following country recently
issued its first batch of forest carbon credit
stamps to reduce carbon emissions ?

(A) China

(B) Japan

(C) India

(D) None of the above

(E) Not attempted

Haryana has a total of
sub-divisions at present.
(A) 65 (B) 73
(C) 71 (D) 69
(E) Not attempted

Learners actively construct the meaning
of structures and identify the principles on
their own in

(A) Discovery learning

(B) Logical learning

(C) Competitive learning

(D) Creative learning

(E) Not attempted

15.

16.

17.

18.

19.

ot & @ fope 39 3 gl & 8 FEA
mﬁwﬁﬁmmwm
gt o1 37U wEen a9 o fR R 7

@) = mig
oA

(B) S
(C) wrd

(D) Ik | & IS TE

(E)

g & ghEn § e JU-HSA € |
(A) 65 B) 73

(C) 71 (D) 69

(E)

el wfpa w9 & GETE & 3 H
ﬁwmgaﬂ;mﬁiﬁwm
¥ a |

(A) fempatt @M
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20.

21.

22.

23.

24,

This village had the first village secretariat
of Haryana
(A) Haibatpur

=
(B) Nilokheri E’%‘!’[g
(C) Kumbhariya
(D) Kunjpara

(E) Not attempted

In this year the campaign of Beti Bachao
Beti Padao was started in Haryana

(A) 2013 (B) 2014
(C) 2015 (D) 2019
(E) Not attempted

The Prestigious Equator Prize is given by

(A) UNDP (United Nations Development
Programme)

(B) FAO (Food and Agriculture
Organization)

(C) WHO (World Health Organization)

(D) None of the above

(E) Not attempted

Mixing dals chana, rajma and sorting is
an example of

(A) Guided play

(B) Dramatic play

(C) Exploratory play

(D) Structured play

(E) Not attempted

In Haryana, Teej festival is celebrated to
(A) welcome the girl child

(B) fly the kite

(C) welcome the rainy season

(D) None of the above

(E) Not attempted

-6-

20.

21.

22.

23.

24,

SC-—TQQ

¥ M H ERmn i e 1w ,

(K) BEAL
(B) Frematt

(C) Frafemn

(D) FHIm
(E) ASITiEa

39 a9 i § 88 q=1si 9 vera 3
e IE gam
(A) 2013

{C) 2015

(E) 3rvamféa

(B) 2014
(D) 2019

wfefssa ymes T g frass g faa

ST @ 7

(A L ELHL. (FATEeE A9 e
)

(B) TH.T.3M. (3 W Afhe
HAFHATSHIA) ‘

(C) T TE.3. (TeS ged ATTZaTH

(D) ITiEd | ¥ HI$ T

(E) Irvanfa

T =1, TIHT USSR T HHT 395
EEISURY

(A) R =

(B) ATHIT WA

(€) ¥t A

(D) wifua @«

(E) IrwTiéd

e § fis od s S 2
(A) =it & T & ot
(B) waT IgM F for

(C) Tl g F @ & fe
(D) 3T & & FI T

(E) rvanféd
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25.

27.

28.

Third battle of Panipat was fought in
(A) 1526 (B) 1761

(C) 1726 (D) 1556

(E) Not attempted

National Initiative for Proficiency in
Reading with Understanding and
Numeracy (NIPUN BHARAT) aims to
achieve universal foundational literacy

and numeracy by the end of Grade 3 by
the year

(A) 2025 - 26
(B) 2028 - 29
(C) 2027 - 28
(D) 2026 —27
(E) Not attempted

Forests are included in the Listin
the Seventh Schedule of the Constitution
of India.

(A) Central

(B) Concurrent

(C) State

(D) None of the above
(E) Not attempted

It is a time table of each class and
of sections thereof which shows the
distribution of subjects in each class
along with teachers for each period

(A) Teacher time table Eﬁﬁi
(B) Consolidated time table 9
(C) Vacation time table

(D) Class time table

(E) Not attempted

P

25.

26.

27.

28.

SC-T09

qrfiad 1 SE0 g4 FE TS AT ?

(A) 1526 B) 1761
(C) 1726 (D) 1556
(E) JrseITiéd

aug 37 3 ¥ Y e Ay %
foe i e (P ) 1 S
a8 9% g 3% 37 a dEviHs e
et 3 3 T O R 7

(A) 2025 - 26
(B) 2028 — 29
(C) 2027 — 28
(D) 2026 — 27
(E) TSt

W ¥ wfaue & arae e § a9
N AT
(A) 5

(B) wHadi

(C) T

(D) I # B HIE TE

(E) 3rSried

e § @ SH-91 T3 a1 3R I6H
FNTI Y O g At 2,
ety % fru fiarl & Ty-a1Y T&F
Fa § Tyt & foawn i quidt 2 2
(A) Thers Tw |iioft
(B) wfFa awa |iiof
(C) TaehTa |y |ivft
(D) & TR I
() wrafer B

®
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30.

31.

32.

indicates

(A) Parking lot — scooters and motor cycles
(B) Scooters and motor cycles repairing
(C) Scooters and motor cycles prohibited
(D) None of these

(E) Not attempted

The ‘SaaRthi App’, recently seen in the
news, is related to

(A) Old Age Pension
(B) Child Development
(C) Securities Market
(D) Women Protection
(E) Not attempted

For effective management of disasters, the
Disaster Management Act was passed in
the year

(A) 2004

(B) 2005 E"?EIIEI
(C) 2006 Eﬁﬁ@
(D) 2007

(E) Not attempted

Plants and photosynthetic bacteria are
also called as

(A) Autotrophs

(B) Chemotrophs

(C) Heterotrophs

(D) None of the above
(E) Not attempted

29.

30.

g9rtar 8

(&) i Tu - TRt 3 A Aty
(B) TN 3N HIET Frsihet AEHA
(C) TRt 3 AT A3l Fy

(D) ¥ | I3 &I

(E) 3rs=miéa

geT € ° gurEn A @ T gt v
Hefd 2

[EE (A) gerar 93 |
Eﬁ?ﬁi(B) et fawE |

31.

32.

(C) wfayfa sTomR &
(D) wfgen quan &
(E) 3rwfaa

IS 3 T gEEA % U e v
srfufran form ad oif feran o ot 2
(A) 2004

(B) 2005

(C) 2006

(D) 2007

(E) 3TsRmfaa
ﬁﬁammméwiﬁmqaﬁﬁ
Wt e T R |

(A) T

(B) I

(C) Wi

(D) 39U § O w13 &

(E) 3r5amiia
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36.

37.

The theory of trial and error which is of

great significance in the field of Educatio
is propounded by n

(A) Edward Thorndike
() Albert Bandura
(C) Ivan Paviov

(D) B. F. Skinner

(E) Not attempted

In Haryana, Mahila Avam Kishori
samman Yojana was launched in

(A) 2018 (B) 2021
(C) 2020 (D) 2019
(E) Not attempted

is a philosophy and method of
teaching languages where a particular
language is taught more wholly in
experiential and social ways and not
taught in parts.
(A) Structured approach
(B) Speed based approach
(C) Holistic approach
(D) Whole language approach
(E) Not attempted

MGNREGA was launched in this district
of Haryana by Govt. of India in 2006

(A) Sirsa (B) Panipat
(C) Sonipat (D) Gurugram
(E) Not attempted

he Asian Games gold

ve editions in the
f the following

Hawa Singh won t
medal in consecuti
1966 and 1970 for which 0

games ? ‘
(A) Weight lifting ~ (B) Badminton
(C) Running (D) Boxing

(E) Not attempted

=150

s
o

33.

[E3E

i

34.

35.

36.

37.

SC - T09

fan 3 i i v i A F e
) wferared

T 2, FEH
= g T ™ |

(A) 2018
(C) 2020

(E)

mﬁmﬁ@zﬂﬂaﬁwﬁmﬁ
qmﬁs"rﬂwﬁz@ﬁmaﬂtmﬁm

aﬂaﬁﬁm@mﬁmm%
3ire el § 7w I 8, IR
() wefa gt

(B) wfig anutia g

(C) T gfeeehiv

(D) ol s gfeehior

(E) 3rstéd

MGNREGA 2006 # WRd #&hR g1
ghamn % @ e 3 3E w1

(A) foza (8) urua

(€) EHfia (D) T
(E) 3t

za1 fifg 3 ad 1966 30T 1970 H AR
TR 1 frefafaa § @ fea g & foe
R G ® @ gesh S ?

(A) WTORITeH (B) ¥efife

(e) T (D) RS

(E) 39aTtéd
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38.

39.

40.

41.

Consider the following statements with

r ef_erence to Pradhan Mantri Fasal Bima
Olana Scheme -
1. Itprovides a comprehensive insurance
Cover against the failure of all food and
Oilseed crops.

- It prescribes a premium of 2% to be
paid by farmers for all Kharif crops and
1.5% for all rabi crops.

Which of the statements given above
is/are correct ?

(A) 1 only

(C) Both1and 2
(E) Not attempted

(B) Neither 1 nor 2
(D) 2 only

In this approach, the learner’s intention
is just to complete the task requirements
instead of properly understanding the
content

(A) Deep approach

(B) Surface approach

(C) Abstract approach

(D) Strategic approach

(E) Not attempted

Wangari Maathai was a famous
environmentalist of which of the following

countries ?

(A) Kenya
B) India [0
(C) Nepal 0

(D) None of the above
(E) Not attempted

indicates engine speed in RPM.
4A) Trip meter (B) Tachometer

(C) Odometer (D) Speedometer
(E) Not attempted

-10-

39.

SC ~1q

38. WUFEHA BEA o1 IS F gEy

frafafaa suat o famm =t

1.mﬂm@ﬁfﬁ‘@m%ﬁma
T T guy S ot 2

2. axft wlie wae & feru 2% 3 af
wHAl % T 1.5% w1 Sfiftmm
F &g el #1 ffds st 2 |

I 0 W HH-F1/8 YT T B ?

(A) F 1 (B) AaA 17 & 2

(@) 13 284 (D) haet 2

(E) 3rumfad

39 g § e ae w1 e fawy

<l 31 ¥ THeH % s Rk S 6

HETIHATAT Y QW HET 2

(A) &Y Ffeeshior

(B) HE gfeeaior

(C) ®R gfeeehiur

[®] % (] :
Eﬁ%(m o g

(E) 3varfyg

40. Tl wed freferfias o @ fem 3w %
g gateroETdt & 7

(&)
(B) Wrd
(C) 9T
(D) 390 | § +1E 78
(E) Avarfyd

a1. 9 1 7y T RPM o gt
(A) fea wiex (8] et
(C) 3irerfiey (D) Ffremfet
(E) 3rvarfaa
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42.

45.

Children with deafness and hard of
hearing can be identified with the help of
(A) Optometry

(B) Audiometry

(C) Stimulator

(D) Both (A) and (C)

(E) Not attempted

Ayushman Bharat Pradhan Mantri Jan

Arogya Yojana (AB PM-JAY) offers a sum
insured of Rs.

lakh per family for
secondary as well as tertiary care.

(A) 1

L) 5
(E) Not attempted

(B) 10 00
(D) 2 ®

Which of the following should be taken
into account for learning to be most
effective ?

(A) Language

(B) Social behaviour
(C) Cultural behaviour
(D) Allof the above
(E) Not attempted

The gradual and fairly predictable change

in the species composition of a given area
is called

(Aj Ecological Succession

(B) Ecological Foot Print

(C) Ecological Niche

(D) Ecological Pyramid

(E) Not attempted

EEE ) 5

SC-TO09

42, FENA 3 HE g A qT= L TEEE
Gl FEPIA A F A AR R 7
(A) S
(B) Ffeamd
(©) fremrete
(@ (A) 3 (C) Z
(E) STt

43, ST WA FFEA 59 SR AT
(AB PM-JAY) Sfdi T &.
Wﬂq{ﬁﬁ%@ﬂﬁ%fmm
et @ |

(A) 1

(B) 10
) (D) 2

B g s

44. gy F g e 1 & fou
Srfufiaa # & FRg oI | T JH
91ieT ?

(A) WS

(B) GTHTIeh SR
(C) ®TEhideh ATEN
(p) ITF w4
(E) IrwaTTEd

45. %Eﬂﬁqwéﬁaﬁw%ﬂﬁwﬁ
i i T g e
FE Al B

(c) witfefasr e
(D) mﬂ'ﬁﬂfﬁm faatis
(E) rfEd
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46.
47.

48.

49.

50.

EXE

L)

On 1 November 1966, Haryana State
was formed on the recommendation of
this parliamentary committee

(A) Faizal Ali

(B) P. S. Kairan

(C) Sachhar

(D) Sardar Hukam Singh

(E) Not attempted

According to which among the following
Acts, a valid driving licence is necessary to
drive any motor vehicle on public roads ?
(A) Motor Vehicle Act, 1998

(B) Motor Car Act, 1988

(C) Motor Vehicle Act, 1988

(D) Motor Bike Act, 1998

(E) Not attempted

Haryana Udayisa system in
Haryana.

(A) Solar power

(B) Non-conventional energy generation
(C) CNG bus service

(D) Electric vehicle

(E) Not attempted

Rapid Metro Rail Gurugram Limited was
opened to public in

(A) 2012
(C) 2014
(E) Not attempted

(B) 2016
(D) 2013

located in the northern Bay of
Bengal is the world's largest single patch
of Mangrove Forests.
(A) Sunderban
(B) Munnar
(C) Gahirmatha
(D) None of the above
(E) Not attempted

SC -T09

46. 39 Tad gwiufy Hir fawie w1 F9m=
1966 F ENEN TFT 1 T R T/ g

(A) Fara et
B) . Ta. FE
(C) E=H
CEISE o) wwem 7w fe
TRAEl gy sroanfEa

(A) ER wifed

(€) HuAs TE wal

49. ?ﬁgﬁahw%ﬁ%@mm%
foTu e @ren T Al ?

(A) 2012 (B) 2016
(C) 2014 (D) 2013
(E) TwaTted
50. ___Wﬁaﬁﬁa@ﬁ%mgﬁ
1 e e i o T o R
(A) FatE
(B) AW
(C) TiRTET
(D) T # & HIE T
(E) s
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52.

53.

54.

sC - T09
the complex ion, [F 2
’ 1* th [Fe(C,0,),1°" and
[Co(el'l)3 e coordination number of
poth Fe and Co is

51. Hrciad A [F9(0204)313_ 3
[Co(en), )" ® Fe 3 Co 21 T

(A) 3 (B) 6 T R

) 4 (D) 2 (A) 3 (B) 6

(E) Not attempted (C) 4 (D) 2
(E) ST

in Griffith experiment, Mice infected with
g strain (virulent) die from

i;; Eig:'teonia infection ?%Ei W ?@m Tl
(C) Malaria infection O ti)) WW
(D) Tuberculosis ©) T

(E) Not attempted ) o

The angle of dip at a certain place is 30°.
If the horizontal component of the earth’'s

magnetic field is H. the intensity of total % ﬂa‘ﬁq & 1 e 2
magnetic field is
3 sy B (A) H2 ® 5 B
a - " J3 (D) b
H C) HJ3 =
(©) H3 o 7 ©) e
(E) Not attempted (E) T
The primary and secondany immune 54, U it fedven wiera T, T
responses are carried out with the help of wd | m 2 AT W E 3 RATRTETES
ytes present £ FErl J et B

55.

two special types of lymphoC
in our blood i.€.

(A) B-lymphocytes and G—Iymphocytes
(B) K-lymphocytes and T-lymphocytes
(C) N-lymphocytes and M-lymphocytes
(@) B-lymphocytes and T-lymphocytes
(E) Not attempted

55. zﬁ%fﬂwﬁaﬁﬁ:ﬁﬁmi

The irritant red haze in the traffic and

congested places is due to oxides of

(A) Carbon @) Nitrogen (r) T (B) T

(C) Phosphorous (D) Sulphur (C) HIEETH (D) TR
(E) FTHa

(E) Not attempted
-13-
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56. What is stratification ?

57.

i cies
(A) Radial distribution of different spe

occupying same levels |
(B) Vertical distribution of different species
occupying different levels .
(C) Vertical distribution of same species
occupying different levels
(D) Transverse distribution of different
species occupying different levels

(E) Not attempted

If tube length of astronomical telescope
is 105 cm and magnifying power is 20 for
normal setting, calculate the focal length
of objective.

(A) 10cm

(C) 20 cm

(E) Not attempted

(B) 25cm
(D) 100 cm

What is produced by bacterium Bacillus
thuringiensis ?

(A) Gall infection
(€) Amylase

(E) Not attempted

(B) Bt toxin
(D) None of the above

In lead storage battery is used
as anode.
(A) lead dioxide
(B) lead G
AC) lead sulphate sl
L |E!.I

(D) lead oxide
(E) Not attempted

Decomposition is largely

(A) The nitrogen requiring process
4B) The carbon requiring process
(C) The sulphur requiring process

(D) An oxygen requiring process
(E) Not attempteq

Downloaded fra

56.

57.

58.

59.

60.

SC - Tog

it 1 B 7

(A) wH Tl o T At fafe sy
&1 Br=fg feaa

(B) farfir=r Tl e T areft i oo
&1 dadd

(C) fafiy= Tl W & Areft U B WA
1 oead fea

(D) fafir= = o T arett faf e
1 sy faao CIEE

(E) r9afda O
qﬁ@:ﬁ?ﬁa@qiﬁaﬁiﬁﬂ'ﬁl‘“%cm
3N s wifF 20 g fammE & fou
2, @ aifeafdea H Blhd TS 2

(A) 10cm (B) 25 cm

(C) 20 cm (D) 100 cm

(E) 3rvaméa

SffamY] dferE gRIse=E grRa &/ 3earted
fohan ST 8 7

(A) g mpawr (B) it oifeam

(C) THTES (D) 3w § § FE T
(E) 3T5iEa

o8 WRA ¢ o I YA & &Y
o v foar s 2

(A) TS SRITFTSS

(B) &e

(C) &S He%he

(D) ™S Tz

(E) Jrvartaa

FEATIH TR 3
(A) TSI 9Te areft whgan

(B) e T8 areht whwan

(C) HeH =R areft widman
(D) TS =mey areft whra

m wwwExRIERE.com



b

61.

62.

63.

64.

65.

A typical nucleosome contains
(A) 200 bp of DNA helix

(B) 2700 bp of DNA helix

(C) 20 bp of DNA helix

(D) 10 bp of DNA helix

(E) Not attempted

Motion of a moving electron is not
affected by

(A) An electric field applied in the
direction of motion

(B) Magnetic field applied 'perpendicular to
the direction of motion

(C) An electric field applied perpendicular
to the direction of motion

(D) Magnetic field applied in the direction
of motion

(E) Not attempted

The ovule is a small structure attached to
the placenta by means of a stalk called

fA) Chalaza (B) Micropyle .
(C) Funicle (D) Hilum E,!f.?
u;ﬂE’

(E) Not attempted

Which of the following is the first genetic
material ?

(A) DNA

(B) Both DNA and RNA
(C) Histones

(D) RNA

(E) Not attempted

Common name Of CE;HSOCH3 is
(A) Acetone (B) Anisole
(C) Acetophenone (D) Ether
(E) Not attempted

c-T09

61. @Waﬁmﬁfﬁaii

48) 4T Ffere@ % 2700 bp

Ej—_[.? ©) Heu B & 20 bp
E“(D)gmgﬁmaawbp

62. T

63.

64.

65.
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(E)

o geEgA w

uﬁlﬁﬂqﬁa?ﬁ% |

) e 1 e o R &

) o1 B R % T SR A
e

(©) e e s i ST O
e

() i e i SR T R

() IraTtéd

m@mm%@w@ma
e S5t % e A ¢ B 2

(A) From (B) T8 TN

() wIH (D) ¥t

(E) 3T

Srfirfigd 3 ¥ FA-T1 TUH AR
oo ® 7

(A) BT

(B) Eeu 3R AR A

(C) o=

(D) ARTAT

(E) Irwnfa

CH,OCH, F1 TAH T 2
(A) THRH (B) THE

() TREAR (D) I
(E) ¥
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66.

67.

69.

70.

t the

st to figh
the.1r> ferred by

Overall ability of
v nisms, €on

disease causing 0rgd o
the immune system 1S ca

(A) Immunity (B) Excr?tlotri'lon
(C) Transpiration (D) Respira
(E) Not attempted

f
Lenz's law is consequence of the law O

conservation of
(A) charge

(C) mass

(E) Not attempted

(B) energy
(D) momentum

The energy of a charged capacitor is
given by the expression (q = charge on
the conductor and C is its capacity)

2 q
q a

(A) 26 (B) p=
D q°

(C) 29C (D) &

(E) Not attempted

Parturition is induced by a complex
(A) ATP (Adenosine triphosphate)
AB) Neuroendocrine mechanism
(C) Neuroexocrine mechanism
(D) None of the above
(E) Not attempted

The separated bands of DNA are cut out
from the agarose gel and extracted from
the gel piece. This step is known as

(A) Recombination (B) Elution EB:[?
(C) Ligation (Dy Lysis (=
(E) Not attempted

ohi0

66.

67.

68.

H“I'I

ui (8]

69.

70.

qEyaTeht gaH T A
Hgard 2 |

(A) Sl (B) IeEH
(C)msq‘raq’ah (D) ¥IE

(E) FwaTéd

S w1 & wa %
yfora 2 |

(A) 3T (B)?’T"f

(C) ZETH (D) HaT

(E) ISt
@mﬁmmﬁﬁ Zm

(C) 29C
(E) JTaTtéa

THd UF el g0 ATd 2l @, @
(A) Tt (T ZIsHiese)

(B) TSTShIE JuTTedt

(C) =ITHIShTS JoTTert

(D) ST # & IS TE

(E) 3rvaTRa



Al
-

(A) 89.1°C (362.1 K)
(B) 98.9°C (362.9 K)
(C) 99.6°C (372.6 K)
(D) 99.9°C (372.9 K)
(E) Not attempted

The gene pool (total genes and their alleles
|.n a population) remains a constant. This
is called

(A) Genetic variation

(B) Genetic migration

(C) Genetic drift

(D) Genetic equilibrium

(E) Not attempted

The object 2.5 cm high is placed at a
distance of 10 cm from a concave mirror
of radius of curvature 30 cm. The size of
the image is

(A) 9.2cm

(C) 5.6cm

(E) Not attempted

(B) 7.5¢cm
(D) 10.5cm E[E

v

Which of the following consumption has
been claimed to increase the performance
of athletes and race horses ?

(A) Pedicel (B) Corolla
(C) Calyx (D) Pollen
(E) Not attempted

The observed order of carbocation
stability is

(A) CHy > CHyCH, > (CHg), CH> (CHg)sC
(B) (CH3)3 C< (CHs)3 CH -<6H3 < CHg 6H2

+ | + +
(C) CH3 < (CH3)3 C< (CHs)ch < CH3 CH2

(D) CHs < CH, GHy < (CHg); CH< (CHa)s C
(E) Not attempted

(R HQ'M mm' K)

EXE () 98.9°C (3629K)

@ () 99.6°C (372.6 K)
(D) 99.9°C (3729 K)

(E)

73. 2.5cm%a’r§aﬁﬁqaﬁa@aﬁamﬁ?
30cm%@313?ﬂ€&“1ﬁ 10 cm I §
o @ ST R | S AR #

(A) 9.2cm (B) 7.5cm
(C) 5.6cm (D) 10.5cm
(E) ITSATTHA
74. freffiga o o fras S0 | TR -
W%‘@lﬁﬂﬁmﬂa@mmﬁ
TR 7
(A) T3 (dfed) (B) @ IH
(C) 9= (D) T
(E) 3Tvanfd

75. FETRY T st wafid % 2

(A) GHg > CHy CH, > (CHa)z GH > (CHa)aC
(B) (CHa)s G < (CHa)s CH <CH, < CHg CH;
(C) CHg < (CHg)sC < (CHa)z CH < CH4 CH
(D) CHg< CHy CH, < (CHy)p CH < (CHa)g

(E) TwaTtad
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78.

79.

ivi n
Gross primary produclwlty of a

ecosystem is the . :
(A) Rate of production ©!

during photosynthesm .
(B) Rate of production of organi

i iration
during transpira -
(C) Rate of production of organic m

during respiration
(D) None of the above
(E) Not attempted

organic matter

atter

Colours of thin films result from
(A) Dispersion of light

(B) Scattering of light

(C) Absorption of light

(D) Interference of light

(E) Not attempted

Which intestinal parasite causes
ascariasis ?

(A) HIV

(C) Plasmodium
(E) Not attempted

(B) Ascaris
(D) Salmonella

The production of dihydrogen can be
increased by reacting carbon monoxide of
syngas mixtures with steam in the presence

of catalyst.
(A) Iron (B) Lead arsenite
(C) Lead (D) Iron chromate

”

(E) Not attempted

Which of the following has greatest
biodiversity on earth ?

(A) Himalayan forest
(B) Western Ghat forest
(C) Andaman-Nicobar forest

(D) The largely tropical Amazonian rain
forest

G
i

3T i &l
(B) aTSdeEs % 2N HEAH TEY 3

IeareA 1 &
(C) Yawm % 2 FEfF T2 % Ieqmgy
E3

[
(D) 3w © @ w13 47
(E) vt
gael! =t %
(A) TehTST ST THTOT
(B) Wehtel &1 Whiufg
(C) SIShTST ST ITSTTSOT
(D) WehTYT T Afaas
(E) Awanfaa

Frafafes & 4 ¥9-3 31 g
TSR F w7

(A) TEHATSE (B) TERRE
(C) r=HIfeam (D) Hied =
(E) 3wt

TREEESSH 1 I IO
Ifeafa & Wi & o e fason %
FIe AFTFEES 8 AR TR 91T S

Hhal g |
(A) &8 (B) T HFTEATE
(C) dram (D) I ML

(E) ST

frefefiga o | geaf

foraeht 2 7

(A) fewrer & S

(B) ufvadt ¥re % =

(C) JeuH-fAiEr % I

(D) & YR W IR I
a9l &

5
25

c
==

=1 gy 2

78.

79.

80. W Eaie Aafaf

(E) Not attempted

(E\ ATTITiA
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81.

82.

s SC - To9
=100 sin?;r(‘)é): o ol ang |
notaragr O %3)MA are the 81. =f E = 100 sin (100t) Voit e
g th\::\tues of voltage ang | = 100sin(100t + %]rr:nA_la’lFE?r 3 forega
and current arq r;“:e\;zluas of voltage & Aehifer o ¥, A Aeen 3 faem %
(A) 70.7V ang 79 7 mA o s e ¥
(B) 141.4v ang 141 4 s ﬁgo'?m
(C) 141.4v and 141.4ma (B) 141.4V 377 141 .4A
(D) 70.7V and 70.74 (©) 141.4V 3 141.4mA
(E) Not attempted (D) 70.7V 3R 70.7A
(E) 3rwanfaa
i e a0 | . st 1) s
(A) Thyroxin Q:B?nl:y " L Eﬁqjmﬁ Bl i %!na ?ﬁﬂTﬂT 7
(C) Prolactin (D 9|axrn_ E]ﬁ L s
) Adrenaline =t (©) vrifFea (D) ufeaferm
(E) Not attempted =1~ (E) 3rsnfir
At constant temperature, the pressure 83. fa aum w, g & ws Rl o
of a fixed amount of gas varies inversely 1 T FHh G F HTY ST
with its volume. This is known as T UREA B R 138 wEa ®
(A) Charle’s law (A) =Ted 1 g
(B) Avogadro law (B) wargt 1 frm
(C) Gay Lussac's law (C) T Hh = fgm
(D) Boyle's law (D) =TI =1 fum
(E) Not attempted (E) 3wty
Which theory attempts to explain to us 84. HH-w1 fagra 21 wwne it seafy gwemy
the origin of universe ? T TAH FAT & 7
(A) Speciation theory (A) Tafdmeat fagma
(B) Natural selection (B) WTehicer w5
(C) Big Bang theory (C) fam & frgra
(D) Mass theory woep(D) ToA9H fagma
(E) Not attempted E&‘EI(E) Ty
Which of the following radiations has the | 85. fforfiga § § frg faf H aorteda
least wavelength ? TEH %Y anft ? .
(A) y-rays (B) X-rays (A) y-Teprot (B) X-feredt
(C) a-rays (D) B-rays (C) o-feprui D) B'w
(E) Not attempted (E)
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87.

89.

91.

Fehling solution Ais
(A) Aqueous copper sulphate
(B) Alkaline potassium chloride

(C) Ammoniacal silver nitrate
(D) Rochelle salt
(E) Not attempted

Restriction enzyme belongs to a larger
class of enzymes called

(A) Lactases

(B) Amylases

(C) Nucleases

(D) None of the above

(E) Not attempted

Discontinuously synthesised fragments
are later joined by the enzyme

(A) Amylase (B) DNA ligase
(C) Isomerase (D) Lipase

(E) Not attempted

=P

ok

is called washing soda.
(A) Na2003-10H20
(B) Na2003-H20
(C) Na2003-4H20
(D) Na2003-5H20
(E) Not attempted

[(=]41[=]

The Microsporangia develop further and
becomes

(A) Tapatum
(C) Pollen sac
(E) Not attempted

(B) Endodermis
(D) Receptacle

Amino acids are joined by which bond ?
(A) Hydrogen bond (B) Covalent bond

(C) Peptide bond (D) None of the above
(E) Not attempted

86.

87.

88.

89.

g1.

(A) THTEAS
(C) HTHTS
(E) 3w

! HTad HISl %&d ¢ |
{A) Na,CO,10H,0

(B) Na,CO,H,0

(C) Na,CO,4H,0

(D) Na,CO,'5H,0

(E) v

AL 3 fahfa Bt @ 3tk =
STt B

THi 37t fobm Wy % g S(ed & 7

(A) EESINA 99 (B) HEEdNH a4
(C) IeEE sy (D) S HA PN
(E) 3rsanfaa
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96.

If a wire iS stretched to make it 0.1%
r. its resistance will
%

92.
longe
(A) increase by 0.05

(B) decrease by 0.05 %
(C) decrease by 0.2 %
(D) increase by 0.2 %

(E) Not attempted

Sperm formation continues even in old
vum ceases in

men, but formation of
women around the ageé of

(A) Fifty years (B) Seventy years
(C) Sixty years (D) Forty years
(E) Not attempted

93.

The mass of an electron is
(A) 9.1094 x 10~ kg

(B) 9.1094 x 102" kg

(C) —6.1x 107" kg

(D) — 1.6 X 1079 kg

(E) Not attempted

94.

EW
oo
After which stage, cell walls are laid down

leading to the organisation of the typical
female gametophyte or embryo sac ?

95.

(A) 4 nucleate stage

(B) 8 nucleate stage

(C) 5 nucleate stage
(D) 64 nucleate stage
(E) Not attempted

In Rutherford scattering experiment, what
will be the correct angle for o scattering for
an impact parameter b=0?

() & (B) 180°
(€) 0° (D) 270°
(E) Not attempted

g2. AR TH :
TES(A) 0.05 % w3l
(B) 0.05 % T
(C) 0.2% T
(D) 0.2% &
(E)
1 ST g3 TEN A off grat &
> %aﬂmﬁ C $ o F
yrgarE A0S Teqred |¢ & A 2|
(A) 50 (B) 70
() 60 = (D) 40
(E) IOENTEd
94. @ﬁﬁﬁﬂm%
(A) 9.1094x 10 kg
(B) 9.1094x 10 kg
() —6.1x10 kg
(D) - 1.6x 10 % kg
(E) Iamied
95. WW%W,WWW
ar oo Al 6 fou st fafd = fmim
B R 7
(A) 4 hgehid
(B) 8 hgehid el
(C) 5 hgehta FHeEAT
(D) 64 Shgehid e
(E) ITSRITEd
96. TEHIE % Y T H, o SR & f
T 0 A 20T R T e e b =
& ?
(A) 90° (B) 180°
(C) 0° (D) 270°
(E)

21-
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97.

99.

100.

By a cell a current of 0.9 A flows through
2 Q resistor and 0.3 A through 7 Q2 resistor.
The internal resistance of the cell is

(A) 0.5Q (B) 2Q

€) 12Q (D) 1Q

(E) Not attempted

The menstrual flow results due to
breakdown of endometrial lining of the
uterus and its blood vessels which forms
liquid that comes out through

(A) Vagina ?E.
- .'i.-
(B) Prostate gland ExE

(C) Urethra
(D) Penis
(E) Not attempted

Which of the following binds to promoter
and initiates transcription (initiation) ?

(A) RNA polymerase

(B) Renin

(C) Restriction endonuclease
(D) Ligase

(E) Not attempted

is a radioactive isotope with
half-life 5770 years.

(A} @l
B) '*C
() *°ci
(D) None of these
(E) Not attempted

97.

100.

SC—-T%

qaﬁﬁaamo.gAﬁqaznamﬁﬁwm
0.3 A 7 @ % afelies A SER® R |3y
&1 IatEs gfedy R

(A) 0.5Q (B) 2Q

(C) 12Q (D) 1Q

(E) 3rvanfrd
98. MY 3R FEeH! WA aATTRHIHA b

vemfae ARt ¥ 724 & HRO Hie®
!il a8 1 YGTE B ?, S v at o=
¢ ,ﬁ%eﬁ_%wﬁmﬁﬁm%l
OMD|

(A) =

(B) W2 Tty

(C) T

(D) fem

(E) 3Twnfad
90, f=fafiga & @ = —= Wit =i afud |

IR TETFIF (IAH) T AT Hd & ?
(A) IITTAT, TS

(B) T

(C) Widwy Ugifreres

(D) ST

(E) 3rsiaa

5770 9§ Y UTg F WU
feendt wweenfae 2 |

(A) ¥cl

(B) 14C

(©y i

(D) 370 A S A&
(E) vt

=22.
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